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Question # 1: 
 
Find the characteristic equation and Eigenvalues of the following matrix: 

𝐴 =
1 −3 3
3 −5 3
6 −6 4

 

 
Solution: 
 

𝐴 =
1 −3 3
3 −5 3
6 −6 4

 

To find the characteristic equation of the matrix A, lets consider the following 
statement: 

det 𝜆𝐼 − 𝐴 = 0 

det 𝜆
1 0 0
0 1 0
0 0 1

−
1 −3 3
3 −5 3
6 −6 4

= det
𝜆 0 0
0 𝜆 0
0 0 𝜆

−
1 −3 3
3 −5 3
6 −6 4

 

det
𝜆 − 1 3 −3
−3 𝜆 + 5 −3
−6 6 𝜆 − 4

; 𝑒𝑥𝑝𝑎𝑛𝑑 𝑤𝑖𝑡ℎ 𝑓𝑖𝑟𝑠𝑡 𝑟𝑜𝑤 

 

det
𝜆 − 1 3 −3
−3 𝜆 + 5 −3
−6 6 𝜆 − 4

= 𝜆 − 1 𝜆 + 5 −3
6 𝜆 − 4 − 3 −3 −3

−6 𝜆 − 4 + −3 −3 𝜆 + 5
−6 6  

 
= 𝜆 − 1 𝜆 + 5 𝜆 − 4 − −3 6 − 3 −3 𝜆 − 4 − −3 −6

+ −3 −3 6 − 𝜆 + 5 −6  
= 𝜆 − 1 𝜆! − 4𝜆 + 5𝜆 − 20 + 18 − 3 −3𝜆 + 12 − 18

+ −3 −18 − −6𝜆 − 30  
= 𝜆 − 1 𝜆! + 𝜆 − 20+ 18 − 3 −3𝜆 + 12− 18 + −3 −18+ 6𝜆 + 30  

= 𝜆 − 1 𝜆! + 𝜆 − 2 − 3 −3𝜆 − 6 + −3 6𝜆 + 12  
= 𝜆! + 𝜆! − 2𝜆 − 𝜆! − 𝜆 + 2+ 9𝜆 + 18− 18𝜆 − 36 

= 𝜆! − 12𝜆 − 16 
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det 𝜆𝐼 − 𝐴 = 𝜆! − 12𝜆 − 16 = 0 
𝜆! − 12𝜆 − 16 = 0 

𝜆 − 4 𝜆! + 4𝜆 + 4 = 0 
𝜆 − 4 = 0, 𝜆! + 4𝜆 + 4 = 0 

𝜆 = 4 
Use quadratic formula for the other term: 

𝜆 =
−4± 4! − 4.1.4

2 =
−4± 0
2 ⟹ −2 

Therefore, the eigenvalues of A are 𝜆 = 4,−2 
 
 
 
Question # 2: 
 
Find the determinant of the given matrix by (a) Cofactor expansion & (b) Arrow 
Technique: 

𝐴 =
3 −4 𝑎
𝑎! 1 2
2 𝑎 − 1 4

 

 
Solution: 

a) Cofactor Expansion: 

det(𝐴) =
3 −4 𝑎
𝑎! 1 2
2 𝑎 − 1 4

; 𝑒𝑥𝑝𝑎𝑛𝑑 𝑤𝑖𝑡ℎ 1𝑠𝑡 𝑟𝑜𝑤 

= 3 1 2
𝑎 − 1 4 − −4 𝑎! 2

2 4
+ 𝑎 𝑎! 1

2 𝑎 − 1
 

= 3 1 4 − 2 𝑎 − 1 − −4 𝑎! 4 − 2 2
+ 𝑎 𝑎! 𝑎 − 1 − 1 2  

= 3 4− 2𝑎 + 2 − −4 4𝑎! − 4 + 𝑎 𝑎! − 𝑎! − 2  
= 3 −2𝑎 + 6 + 4 4𝑎! − 4 + 𝑎 𝑎! − 𝑎! − 2  

= −6𝑎 + 18+ 16𝑎! − 16+ 𝑎! − 𝑎! − 2𝑎 
det(𝐴) = 𝑎! − 𝑎! + 16𝑎! − 8𝑎 + 2 𝐴𝑛𝑠 

 
b) Arrow Technique: 

det(𝐴) =
3 −4 𝑎
𝑎! 1 2
2 𝑎 − 1 4

3 −4
𝑎! 1
2 𝑎 − 1

 

 
det(𝐴) = 3×1×4 + −4×2×2 + 𝑎×𝑎! 𝑎 − 1

− −4×𝑎!×4 + 3×2 𝑎 − 1 + 𝑎×1×2  
= 12 + −16 + 𝑎! 𝑎 − 1 − −16𝑎! + 6 𝑎 − 1 + 2𝑎  

= 12− 16+ 𝑎! − 𝑎! − −16𝑎! + 6𝑎 − 6 + 2𝑎  
= −4+ 𝑎! − 𝑎! − −16𝑎! + 8𝑎 − 6  

= −4+ 𝑎! − 𝑎! + 16𝑎! − 8𝑎 + 6⟹ 𝑎! − 𝑎! + 16𝑎! − 8𝑎 + 2 𝐴𝑛𝑠 
 


